LTHSFEE —REFALER

ZREFEM) | FEME(FD) | g = 3% .

#% % B = (BAA) (BAZ) EHLE ERLESE A8 FIE
i‘s%d\i&ﬁtmﬁmb1—9—%@,-.5“1& Ib{;’;rﬁl— ( F £8) 46.200 . . ;;Z_rt/;‘/*ilb&—a—ﬁ—e;’\ e -
E1EMERNEHETS TAR—= 17,160,000 17,754,000| 96.65% [Aya BRI EHMKXES1 (10848 [#BmEBREL KZ
B26 5N IRERFEETS WETE 11,220,000 11,638,000| 96.41% Rl E B E1t 10848 |SIHMERFELI AR
EEIIEFELIE TR—= 38,830,000]  40,040,000| 96.98% |FtHFEHR T XS4t 10848 |MIHMERZELIARRZR
FRINTEmtE 2—@EAIE fRiATE 35,420,000 35,563,000( 99.60% [#kX=tt fEOMHE 1048 |BEFEREER

‘ EfmEE ]
TORIWRT— LT EEIR YR A%é%i 1,320,000 — — |[&X&£t 10848 |HiFREEE
N ERAR

KPTESICOMLHHID(F, FEMEZERARLTLDLD
Xk T, BEALTREI LG -OMABRERITRE167E£N2 F1EHESSOREICIYMERN LG -HD




